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II' water of volume i.lllH k' {li'u.‘n
A7x10¢ m* of fiat Jand, find the depth of
ithe water. (Volume « Area X ”**::F'Thl

"The initial and the final pmulwn- nr n
particle moving along x-axis are X, = =76
m. X3 = 833 m, then s displaccment A%

:qual'.
[A car has a spead of 72 Kmv/min “pavert | 1.2 % 10  mis| 4.2
this speed 1o ms |
[The result of ( i 1] Jaiis
‘Convert 53.6 min to scconds

‘A soceer ball is kicked hnmonu]h If fis
displacement after 5 5 is 19 m, then its |
average '!-|31:'Ed is

Vector A has a m-a.j;nlrudr.' ic of 19.0 m :nd
is directed 30.0° northwest. vector B has |
a magnitude of 4.0 m and is directed cast.|
[The n!a-_mludr of A+ H is

;3 "Ii:c "sl hase unit for — :

(1 F1.08 m

4"Ifu|u 5 &1

6.1 mfs

17.664

: l._ukrgnm '

'For the two viectors A =21 - 2|+2L:md
{9 B = -2i - 1] + 1k . The product of A.B|

gh-n
:I s nqun-slu.nl to HBI ﬂ A cube sbe with |

1P
jan rdfr?ctl'l & ft has a volume of q.g_-.‘ .

':IEI

| '“ hich of the t’nlinhmg quﬁiﬁllm- is “I
u;-cmr quanun"

.a Car moves :Inng a 5tra|ghl line mth
12 |velocity ¥ ¢ - 260 mis , The

specd

230 m's

7.7 m

| acecleration |

8308 m

1107 mis | 3.2 210" mus

Liro
0216x 107 s

k
6% IEI-"I |

|
38 m's

b= :
12X 100m* | 96X 10°m”
1

disiance

5.0 miv \ 26.0 mig

I 23

nfcrlcrltmn att=13.0%is:

.IJ.I’&nrﬂultuI"j l‘,l:rn'_l_u :
i 'H A and B are wctan with the'

Imagnuudt 5 and 4 respectively and their |
ldot product is 17.5 them the angle!

ibetween A and B i is: L.

m955° |

31.955°
|

15| jvalue in Ll!ngr.lms per cubic m:ur is: |

—
| ™
i

| :
12i-7+ 14k

Two veclors are given A = A=3i- 3]‘ + 5k
(17 and B = 41-1-3}+1k.
f‘]‘h-. mulm ﬂ!‘!ﬁ.-l-ﬂw.

1

5rx10

e 2
[ [The density ty of wlld is 6.0 g alcm’. m”. This| | 6.0E-4 kg.n'm’ || nm& kgfnf | 600.0 kg/m’

T7.48 m

~318 m

i i
nys

321610 s

5.5 mis

b

10.5m’

none of the

above

300 mis’

e
Tero

25955 "

|| 6000.0 kg/m’ .
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—TA squarc with an edge o cactly |
juare with an edge of exactly 1 com 1% m* i 10 i

Vwn monthis

Iithr, by falls .
| 98 m during Ii fncreases by 9.8

A freely falling body has a m“““‘w.ﬁm during .
| thefirst o durd
m/s during each

|
{26 l_i:uhr:th:-n of 0.8

L
',_1_!1? o3t k.
Prlotate g |
! !-f}nc object is thrown vertically upwardlr [ | |
| lwith an initial velogity of 100 mvs l.uld.iL || ||| |
I ; s R . .
|__lanother object with an imitial velocity of| fimes | 100 times 10 times
1281 q/s. The maximum height reached by | 1000 | e |
|the first object will b _ that of the '. | .
Jother. = ]| =<0 |
from rest and goes down 3|
coeleration of | _l-
reachesthe| 23 mfs 15mis '\ 10 m/s ||
| |
1 1

e ——

| ||bottom of the bill? _

e A —— _,_n_,_...—r_.___.___.———'_"____,—

I~ The position of an object is given by X = l .

Mt - 2 + 1.5t, where X and t are in 51 |
2,058 ms

|3{}.i,um‘ls.
' Eum:a is the instantancous velocity 0 the| | ,
' e \

| object whea t= 0.75 5. v
2

1
- [has an arca of
{20 [z million seconds i I|||'In:l1i-malrl} Ome year | Temdays | Omeday
[4 stone is relensed from rest from the| [ o
lcdge of a batlding roof 190 m above the { |
{21 pround. Meplocting air resisianct, fhe| 130 mis | 190 m/s 4% mis 6l m's
_ ‘speed of the stonRE just before siriking | |
| lthe ground, is |
(3 0.7 kg solid sphere bas 2 e 1 .
22 . its demsity i 1::,";: ;mn , 1;"*: K |seixae’ kg/m’ 13"“;:;1:1‘
| (Volume of a Sphere = 43"y | | ¥ 1
I-—r e e = o B le— __..I_ — e ]| | e e
bt c = length weight, | || - TAsE, wekght, || M35, Temath, |
123 [The S1bas L asons ol e : : .
. & &1 base units have the dimensions of | 4oy, time | fength, time | o e
| !‘l"t:cmr; A and B exch have magnitude L-| | 1
L [When drawn with their tails at the sanE} gt . i i 512 wn ]
!'puiui. {he anphe between thent s 30°, The 4 | : ; 2 " |
| imagnitude of A X Bis: | ? '
,'_'-l CcAT MOVES with velocity of 19.0 m's. ': 1
25 |then the driver used tive break tostop the | peozmis | -2.008 oie || A0S mis | 1008 mis |
| |jcar in 60.0 m, The acccleration ist , | | A
""""" L ] [P ~— I {he acecleration | Be specd ol |
the y falls | of the body the body |

173 imereates by |
m's. This means that achsecoid | ‘second | .8 m/ during!
| second | cach second |
ol
1]

ey — . ,
then the maguitude| jga95 | 8296 | w2 | e

| 10,000 times |

{29 {m/s’, Afte
of the hill. What is its speed at the ! \ |
|
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."; AT .I1-.'-.-vn- nm-'; n. mraght linc -.-I-llh_
10 ,‘\-rhh tyv = t*- 13.0 m's, The sccelemation| - 9.0 m/y? 13.0m's 12,0 m's 160 miv
fat b= 60 5 s
17| e deosity of liquid is 2.5 glem’. Thist, oy 44 onoll 3500/0 K/
vilue m kilogranss per cubic metor 1=
S s, vy e :
| tive beoudy the body fall | :h II c:'-";;l:l the scoeleration ol
| <A g L “- | the body falls | body increases ||
A freely falling body has o constant| falls9.8m || 9.8 m :iu:m.l‘ by O R it by T3 [EA5ES
facceleration of 9.8 my's®, This necans thiat diiring the | : | B =, by 0.8 mv's dunng
z | cachsctond |m’” dunng cach | ]
| st socond Sy cach soco
| s

250.0 kginr |  0.0023 kipfm'

COVETE:| |
i 690 m 67.8 m

IIf weater of wolune 0.04 km'
6465 m

1950 10® m® of fat tand, find the depth of the|
| wiiler, [V odume = Area X IJ:'“L!H

A car moves with '\'I.I.I."\.l.l."‘{'U‘t 180 r'H..h-l“ :
2 006 m's*

{20 Ithe dniver used the break to stop the car in|

[ 1630, The accetoration 15; | - 1 —
| kilogram || AN [ pound

3.006 ms 0,994 mis

21 ['i]1cT'§I-Eﬂ_J$:1;m! for mass s k

Q,...llih-:'rul'rlﬂh |\-.i&;lx‘| is :
Il miis {.xq:u'-ﬂll;l!l.t to 1609 mso 55 -up"l. i I v S5 mis

| (A soccer ball is kicked '}U'r'l.'-'.d."lﬂ.t:l'l- If its|
{24 |dizplacement afler 2 5 {19 m, then its| 124mfs §.2 oy B 115 mvs
-au:mgr_ speed i3 |
[Twp vectors are given A= 30 i+ "L . | ; ) -
bsland B = 41 + 3 - 2kfdi-5j+6k | S 3 61 - Ti 2i-3+8k
[ The results of 24 + B is: | e

(A car hns a 11%1 of 97 Km/min Convert | S617x LOITX 3 617% 10" mis| 0617 x 10° s

| 10 'm4s || 10 s {

'.l‘
L |t or the two. w.x!urs A=2+2-2kand B~ | a0 | 30 60 . o
= L2t + 1 + 1K Ih-:pmducmr’;'i.l?rglw | . _ _

IA stone is released from rest from the L‘dEC-|

! lof a building roof 190 m above the ground. | 190 s

28 N I f i '
eglecting air resistance, the speed of the |

.m:-m: just before '{Tl'lk.!ng the ground, is

i I\“nmﬁ,t:_ﬂ and B cach have magnitude L. Is

| |Whm1 drawm with their tails-atl the same
2 ipoint, the angle between them is 30°. The|

Il imagnitude of A X B is: s
L’L s:-;uére with an edge of exactly 1 cm hasi 104

|an area of )
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". stome is Feleased from rest frmu the edze of |
‘a building
ing roof 19 m above the ground. 20 | 199 nvs 4% mis &l innls

"'"ic-g'h:rling air resistance, the speed of the
istone, just before striking the ground, is

"The result of § x k) x (k x ) is

l-ur ﬂw I:u-rnrﬁ.{nn 2 Ii Zh and B=- ah
- 2j + 1k, The product of A.B gives: ! i

i o
=20
;Thl.' respltof (ixj)xifs i : Zero
Comvert 93.8 min to seconds 628 % 105! 562851075 | 8628x107s | (‘:l":ff‘: -
A square with an edpe of exactly 1 cim has-an | 107! 107! | 10 10!

specd acceleration a and b

aren of
‘Which of the following quantitics is a vector| .
distance

lquantity?
i‘l'ﬂ:ltlr A Bas 2 magnitude of 9.0 m and is
idirected -40.0° northwest, Vector B has a o e
[magnitade of 2.0 m and is directed cast. The o
jmapnitude of A + B is: { |
- : PN S e 5 || [T = e - -~
mass, length, | mass, weight, [length, density, welght,
{ . i i lemzth,
turme time F :
_ time

9 [The S1 base units have the dimensions of tire

{One object is thrown vertically npward with | [
| |an initial velocity of 100 m's and apother | { |
(10 |object with an initial velocity of 10 m/s. The | 10,000 times 10 times 100 times I.W}
(maximum height reached by the first abject | | | S
fwvilll be that of the other. |
ety .

-

| the speed of | the bé Bud |
' the body | the body falls | aceeleration uf : t;t “; ¥ I|
A freely falling body has a constant| mumwsl:w (9.8 mdunngl the body . .'H
98 | the first - increases by

;rh:c::lnrntjnn of 9.8 m/s’. This means that
QL during |  second 9.8 m/s” during

each second |

| ,.
Vectors A and B each have magnitude L.
li2 'When drawn with their tails at the sanie |
% ipoint, the angle between them is 30% The
{ !m:gnimde of A "{ B is: _
.13 I"herﬂultufﬁi {k:l}m _
|l4 Tlu hlhase linlll'ﬂr manbi'i ] : ! Iulﬂgrnm | ounce |
i -

' 1. car starts from resi and goes down a slope & mls | 10 mis

s | |with a constant acceleration of 5 mJs*, After §
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! |sﬂ'nnds, the car reaches lhe boltu»m-nf the Inll (
| ‘Whtl is its speed at the bottom of the hill?

| |A car moves with velocity of 29.0 mv/s, then the |

16 (driver used the break to stop the car in 194, n' 0168 m/s’ | <1168 m/s' | <2168 m/s’ 1832 mis'
'm. ['hc acceleration is:

|7 'l mi s equnulem to 1609 m so '“ mph is _! 55 m/s ' I!.ﬁ. m's 25 m/s 81 m/s _
J 1 mis ¢quw:lm: to 3.281 ft. A cube with Il'l' i —— ey || 96X 10
P’ rdgnnfl 5 ft has a volume of 10 e 96X 10'm m? |

|I ]!Im position ul‘nuoh;m u.g:wn_ln x =4t —_ o N ' |
19 262 + 2. 5t, where x and t are in S1 units.

. |
.55 m/
}\‘Vhlt is the instantaneous ‘I‘lﬂf“\- of tl}?! 375 m/s S.45 m's 225 m/s 4 m's l
| objec-l when t = 0.25 s.
|Jz o ILA =70+ 9]+ 19k . then the magnitwde| 0 (0 [0 oo pam | 2ass |
nf.»\ is: _
[2! [“rix mlllmn seconds is appmumltch One year , Two months | One day | Ten days l
| A car moves Ilnng a slrmghl line with v rloc:u, '
22 |\ =t*- 17.0 m/s , The acceleration at t = 12.0| 24.0 m/s’ [ 270m/s' | 23.0m/s" | 26.0 m/s 'I
J s is: [ ' ' l
- /A 0.28 kg solid sphere has a radius 32 mm. its 13X 44X [ 204X | 074X |
" |density is: : (Volume of a Sphere = 4!3:rr3} | 100 kg/m® | 10°kg/m® | 10" kg/m’ lll}' kg!m
, If A and B are vectors with the mgmludr + |
24 |and 6 respectively and their dot product is| 57.612° | 62.612" 58.612° | 6l.612°
] II 5 .thcn the nnglc between A and B is: i ' '
A soccer ball is kicked horuonh!ly If its [ [ ' ‘
25 |displacement after 5 s is 22 m, then its| 6.7 m/s ‘ T3ms | 44wms | 31 mis |
| = verage speed is | 5
i [ T'he initial and the final pos.llinns of a partir.:le ir | r |
26 |moving along x-axis are X; =-T3m, X: =97/ +24m | -170m | +170m | -340 m
lrll1 then its displlcemmt AX eqmlu | | |
The density of liquid is 5.4 g/cm’. This value 5 1 : | T —m
L) }: kilograms per cubic meter is: S ke | 5400.0 kg/m | 0.0054 kg/m | kg/m’
If waler of volume 0.02 km’ covers ‘ N
8 [45x10° m’ of flat land, find the depth of the| 46.74 m 4754 m 4444 m 43.14 m
wtter. (Volume = Area X Depth)
Two vectors are given A = 3i + 2j + Sk and B= sn+6b hi i « l§+7i+8
+4j+ + )
lsi-3j+2k. The resultsof 24 - B fs: (FAtekiMrguk) negyrok |
A car has a speed of 45 Km/min Convert this| 11.5 x ‘ 75%
busiz Riv1p? 2 ’
'speedtnmfs 10 m/s | 45x10° m/s | 107 mys
@ Emall @ Save

£
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Ir {Ome obyject is thrown vertically upward
[ with an indtial welocity of 100 mfs and
sanather objoct with an initial velocity of
LIH ¥, The maximum heigit reeched by
he firstobject will be  “that offthe |
fother, |

‘-b The r-:ﬁunn!'{ ix]) J'H | is

_[ L‘-.’-.-c.mr Ahasa nugnﬂudi: of 6.0 m -U'rd S

| firected 3000 ° northrwest. Viector B hasa

| ;rnnb'.:n'hu-:fu of 16.0 mand iz direciod cast
[The magnitede of A + Bis:

I.'.‘Ll [The rﬁultnl"ﬁxﬁjx{é xE)is .l
EJ'IL car moves along a il:rm'g}li: Iine with Ir

21 pvelocity v * s (- 10L0 mus, The .
.j.;_-:.:-]:—ram'l't att= §9.0s s
I

|
| 10 themey

8.0 mis

"'[

10 times

140.0 ms?

[ Fnr1hc1wam1orsﬁ hZ;iZL |

|?? jand B = -20 + 1 f- 1k - The product of A.B *-40

i 'iﬂ"-'ﬁ

23 11 mi is t:squwulun to 1609 mso 55 nu:rh is .E__l ’_'f"_
I24 rrm- 51 base unit for mass is _-.'I.FUI'M'-E
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T |

|
I-I.I.:,l:’.'-:n':- timcs {1000 times
|

|1"';:|1""'§-

||-c iu;_.'.hm

'A stone 5 released from rest from the |
| ledgt: of a building roof 190 m above the ||
2“ |grc-un-:l Meglecting alr resistance, the 6] m's

ispeed of the stonc, just before striking the |
! iground, is ' |
i |h ‘car starts from rest and pres downa |

| islope with a constant acceleration of 5

?26 |rnFs After 5 seconds, the car reaches the sll] m's
I ibottom of the hill. What is its speed at the
Il |l:ru*t|::m of the hill?

|
!L‘)ﬂ ms

|
|

'lua s

{
.5 mis

e ——

2? |5_-.1x million seconds is aﬁmmmwy

iit water ::fmlumt 0.01 km* covers
8 143x10" m® of flat land, find the depth of
| |rhe water. (Volume = Area X Depth) e

Ten days

:ll'.}n_: da;r

[1‘\-&::' months | 'Dnc. yEar

23.26'm

|
20.06m

- —
11“’1].36 m 24.66 m

|_|The pﬂssnnn of an object is given by x =
4t - 26 +2.51, where x and t are in Sl

J funits,
' IWhat is the instantaneous velocity of the

,[ !ntumi when t=0.755.

TR
|

9,45 mfs

T

16.25 m/s

|

—

r;; A square with an edge of exactly 1 cm ms 10t
 Jan arca nf _ L 2

._k! 0m’

1Il'i!fil"m1
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A stone is released from rest from the eidge of

; building roof 1% m above the groumd. 120
l\'l".!rl'l'[.lfl'.: air resistance, the specd of the .

ust before siriking the ground, is

2 The result of (j x k) x (k x i) is i

3 For the two vectors A = 2i + 2j + 2k and B ca
2i-2j+ 1k. The product of A B gives: o

4 iﬂi'll'\ulllllirl;[lllt i

5 Convert 93,5 min to seconds 1628 x 10 "5 ' 5

6 \ squarc with an edge of exacily 1 cm has an 10°m
area of

- Which of the following quantitics is & vector .

e distance
quantity’
Vector A has a magnitude of 9.0 m and is

" dire i 40.0° porthwest, Yeclor B has a 11.57%
magnitude of 2.0 m and is direcied cast. The
magnitude of A + B is:

9 ; mass, length,
I'he 51 base unitx have the dimensions of Fomil

e
Oune object is thrown vertically upward with
an initial velocity of 100 m/s and another

10 jobject with an initial velocity of 10 m/s, The | 10,000 times
maximum height reached by the firsi object
will be that of the other.

the speed of
the body

" A freely falling body has a constant increascs by
acceleration of 9.8 m/s’, This means that 9.8

m” during
each second
"Veciors A and B each have magnitude L.

12 When drawn with their tails at the same I
point, the angle between them is 30°, The | ’
magnitude of A X B is:

13 [The result of 6] . (kxi ) is 6]

14 [The SI base unit for mass is pound

|

15 A car starts from rest and goes down a slope | s

* \with a constant acceleration of 5 m/s’, After § -

First Exam

1437

T ol et
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4 o

190 s 43 m's fHl m's
0 i k
-850 =20 -9.0
Fern i k
3 hh2%
BB an0Ys | seamxa0try | MO
10'%
1 m’ 10 *m’ 10 'm’
speeid acceleration | a and b of
7.578 10.57% 6.578
ight
; J weight,
mass, weight, |length, density,
length,
me e
Time
(LT
10 thimes 104} timmies :
times

the body falls acceleration of

9.8 m during
the first
second

the
the body
i 9,
the body Y8 95
i ; m during
increases by BT
9.8 m/st during Ene
second
each second
| B Lz
b -y
kilogram ounce
Sm/s 10 m/s
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